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CN—11—2017
FACULTY OF COMMERCE
B.Com. (First Year) (First Semester) EXAMINATION
MARCH/APRIL, 2017
(CBCS Pattern)
FUNDAMENTALS OF STATISTICS AND MATHS—I

(MCQ + Theory)

(Saturday, 18-3-2017) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. :— () Solve question No. 1 on OMR sheet during the first half an hour.

(i) Question No. 1 and Question No. 2 are compulsory.
(zi1) All questions carry equal marks.

(tv) Use of simple calculator is allowed.

() 99 %. 1 8 OMR 939 Hisaod= 8. 96l e TUide 9 Ufed.
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MCQ
1. Multiple Choice Questions : 10
EIEWW R
(D) “Statistics is a science of counting.” By whom is this definition
given ?
(@) Boddington b) Bowley
(¢) Pareto (d) Croxton and Cowden
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“gifeet ¥ HSEE WA AR € e Yeidish! SivmEl o ?
(@ e (b) S
© WA (d) SRS M HTEed
The arithmetic mean of 18, 36, 54, 72, 90 is :
(@) 36 (b) 54
(c) 72 d) 90
18, 36, 54, 72, 90 TR THIGT TIEF wowerersomesmmsseesn T o
(@) 36 (b) 54
(c) 72 d) 90

What is the median of the following set of scores ?

18, 6, 12, 10, 14.

(@) 10 b) 14

(c) 18 (d) 12

18, 6, 12, 10, 14 =1 Gl AT HIUCl 2

(@) 10 b) 14

(c) 18 (d) 12

The mode of 30, 40, 20, 10, 15, 25, 20, 20, 10 is :
(@) 15 b) 20

() 30 d 10

30, 40, 20, 10, 15, 25, 20, 20, 10 I Hifclshd Yfaes HIvd ?
(@) 15 (b) 20

() 30 d 10

Range means ........ccccceeeeeeeeeeeecniiinneen. .
(@) Comparison between two values
(b) Difference between two values
(c) Distributed values

(d) ~ Difference between large value and small value in distribution
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(@ SN HAe qo

(b) <N AN Hh

() TS HqA
(d) fawsHde b8 qeu ool @8F qendia ik
(6) Quartile Deviation is called ........cccoeeeeiiiiiiiiiiiiiieeeeeeennnn, .
(@)  Quartile range (b)  Interquartile range
(c) Semi-interquartile range (d) None of these

a@a%'; rq'qQ’l"“Q’“ TEUIQ oo .

(@  =qdes fam (b)  ATR=qYE fam
()  Tgsiar =gefs fam (d) AR THS AR
7 Calculate mean deviation from the following data :
2lfdal = 150, N = 20
(@ 75 b)) 75
(c) 7.55 (d)  0.75

el Alfgdr=an STMaR A1ed faee el
Slfdal = 150, N = 20

(@ 75 b)) 75
()  7.55 d) 0.75
(8) Which method is scientific to find out correlation coefficient ?
(@) Galton b) Karl Pearson
(c) Charles Speearman (d) I. Fisher
TeHaY HEUlh hIQUATS! STl Ugd ehiow 2
(@) et b) e TueEE
()  =eH A d) 3 fHIR
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9) The correlation between two variables be perfect if :
(@) r is less than 0.5
(b) r is more than 0.5 but less than 0.75
(c) r is more than 0.75 but less than 1
(d) risequal to 1l
A TSN TeHed URYu wH SuSen S
(@ r 0.5 U&T HH EAA
() r ¥ 0.5 Uam Afem WG 0.75 e HH
(¢) r ©0.75 s S g 1 9e&m HHl
d) r&1 = SR A

(10) Regression is the word used by Galton, for first time in :

(@) 1677 (b) 1777
(c) 1877 (d) 1977
W TMeed I FfaT™ET (Regression) B 68 WANT TEGLIY 3. o
T hl.
(@) 1677 by 1777
(c) 1877 (d) 1977
Theory
2. Calculate the Mean and Median from the following data : 10
Marks No. of Students
0—10 2
10—20 8
20—30 5
30—40 10
40—50 15
50—60 10
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WA HIfgdiae" A1ed o HEAh! hial

T faeneai<ht den
0—10 2
10—20 8
20—30 5
30—40 10
40—50 15
50—60 10
3. Calculate the Standard Deviation and its co-efficient from the following
data : 10
Age No. of Workers
20—30 15
30—40 25
40—50 30
50—60 20
60—70 10

Eeitel Hifgdrea ER ‘gar fa=er’ onfor @ren Uk el

T TSRt W&
20—30 15
30—40 25
40—50 30
50—60 20
60—70 10
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Or
(feram)
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Calculate Quartile Deviation and its co-efficient from the following data :

Marks
0—10
10—20
20—30
30—40
40—50
50—60
60—70

No. of Students

04
08
11
15
12
06
03

Tl Hifediaed aqedesh foae™ d &M=l U hiel :

T faemeafsht demn
0—10 04
10—20 08
20—30 11
30—40 15
40—50 12
50—60 06
60—70 03
Given :
x y
Mean 27 40
Standard Deviation 03 06

r between x and y is 0.8.
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(7))
Find regression equation y on x and estimate the value of y when x
is 29.
feeret
x y
I 27 40
gAY ferere 03 06

x ST y HEA » = oA 0.8.

YA FHRO y on & TIR hed y o Hod hl@. x o Hod 29 ol 3=,

Or
(feram)

Calculate Karl Pearson’s coefficient of correlation from the following

data :
X
28
30
32
40
45
47
50
52
55

‘v’
30
35
37
40
45
48
55
60
62

Use ‘40’ and ‘45’ as working means for X’ and Y’ series respectively.
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o

Tl Hifediaed shid IR am=1 9g9dy U &el

‘o ‘g’
28 30
30 35
32 37
40 40
45 45
47 48
50 55
52 60
55 62

‘o' omftr ‘' WIfCTRIATST SAIRH 407 ST 45 T[fed HIEA ST
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